1. There is only one perishable commodity available for consumption today and
tomorrow, and two consumers, Ann and Bob, whose preferences for alternative con-
sumption streams today and tomorrow, (z,y) € R, are described by the utility
functions v (z,y) = min{z,y}, and u®(z,y) = 2y, respectively.

(a) Assume that the endowment streams are (0,30) for Ann and (20,0) for Bob.
Ann and Bob participate in a competitive credit market in which they are the only
participants. Calculate the competitive equilibrium rate of interest and consumption
streams, and determine whether this allocation is Pareto optimal.
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